1. Nurikabe 2|7t %iE 10 points

Shade some cells black so that the grid is divided into non-overlapping white regions.
Cells are considered to be in the same region if they are adjacent horizontally or
vertically. Each given number must be in a white region that has the same area in cells
as that number. Each white region must have exactly one given number. All black cells
must be connected with each other, but no 2x2 group of cells can be entirely shaded

black.
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The example uses a grid of size 6x6. The actual puzzle will have grid size 6x6, too.
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Answer Key: Enter the contents of the cells on the two marked rows (columns) from left
to right (top to bottom), using 1 for a shaded cell and 0 for an unshaded cell.
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Example: 000011, 010010



2. Battleships ZH&HHl|x| & 15 points

Place the given fleet of ships with the shapes of the ships as shown. Each segment of a
ship occupies a single cell. Ships can be rotated. Ships cannot touch each other, not even
diagonally. Some cells are known to be water and are indicated by waves. Some ship

segments may already be given. The numbers outside the grid indicate the number of
cells occupied by ships in that row or column.
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The example uses a grid of size 6x6. The actual puzzle will have grid size 8x8.
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Answer Key: For each row from top to bottom, enter the column number of the leftmost
ship segment appears. Enter ‘O’ if there are no ships in the row.
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Example: 020131



3. Sudoku AEF #Hyh 20 points

Place a digit from 1 to 6 in each empty cell so that each digit appears exactly once in
each row, column and 2x3 box.
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The example uses a grid of size 6x6. The actual puzzle will have grid size 6x6, too.
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Answer Key: Enter the contents of the marked rows (columns) from left to right (top to
bottom).
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Example: 614523, 532164



